BANK BRADESCO Form 6-K March 11, 2019

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2019 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Group and Family(x) Controller's Dependants

S.A.

Total

Common Shares

		Openning Ba	lance					
Тур	e of Securiti	ies/Derivatives		Quanti	ty	% of participation		
						Same type of Shares	Total	
	Common	Shares		2,477,2	16,477		36.8641	
Non-Voting Shares				75,799,591 2.25			1.1279	
		Month Move	ment					
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in	R\$	
Common Shares	Banco Bradesco	Redemption of shares	25-Feb	90,801,220	0.00	R\$ R\$	-	

Closing Balance			
Type of Securities/Derivatives	Quantity	% of particip	oation
		Same type of	Total

 Common Shares
 2,386,415,257
 71.0257
 35.5128

 Non-Voting Shares
 75,799,591
 2.2559
 1.1279

90,801,220

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brad Group and Family Dependants	desco S.A. (x)Board of Directors	() Board of E Office Openning B	rs	() Au Commi			echnical and sory Agencies
Туре	of Securities/De		didiloc	Quant	•	Same	f participation type of Total ares
	Common Shar				362,731		0.5465 0.2732
	Non-Voting Sha			33,	782,172		1.0054 0.5027
T (Б. І	Month Mov		0 "	Б.		/
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	١	/alue in R\$
Non-Voting Shares		Sell	14-Feb	56	45.46	R\$	2,545.76
Non-Voting Shares		Sell	14-Feb	16,500	45.30	R\$	747,450.00
Non-Voting Shares		Sell	8-Feb	11	44.12	R\$	485.32
Non-Voting Shares	Bradesco S.A. C.T.V.M.	Sell	8-Feb	8,800	44.05	R\$	387,640.00
Non-Voting Shares		Sell	11-Feb	64	44.26	R\$	2,832.64
Non-Voting Shares		Sell	11-Feb	700	44.28	R\$	30,996.00
Non-Voting Shares Non-Voting Shares		Sell Total	11-Feb	2,900 29,031	44.29	R\$ R\$	128,441.00 1,300,390.72
T	f O iti /D -	Closing Ba	alance	0		0/ -	f
Туре	e of Securities/De	erivatives		Quan		Same	f participation type of Total pares
	Common Shar	es		18 1	362,731	Si	0.5465 0.2732
	Non-Voting Sha			•	753,141		1.0045 0.5022

Company: Bradesco	Leasing S.A. Arre	endamento Mercantil			
Group and Family	(x)Board of	() Board of Executive	() Audit	() T	echnical and
Dependants	Directors	Officers	Committee	Advis	sory Agencies
		Openning Balance			
Тур	e of Securities/De	rivatives	Quantity	% o	f participation
				Same	type of Total
				Sh	nares
	Common Share	es		0	0.0000 0.0000
	Non-Voting Shar	res		0	0.0000 0.0000
		Closing Balance			
Тур	e of Securities/De	rivatives	Quantity	% o	f participation
				Same	type of Total
				Sh	nares
	Common Share	es		0	0.0000 0.0000
	Non-Voting Shar	res		0	0.0000 0.0000
	-				

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brac Group and Family Dependants	desco S.A. ()Board of Directors	(X) Board of Office Openning	ers	() Au Commi		() Technical and Advisory Agencies
Туре	e of Securities/D		Dalance	Quan	tity	% of participation Same type of Total Shares
	Common Sha Non-Voting Sha	ares		1,	52,327 772,307	
		Month Mo	ovement			
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$
Non-Voting Shares		Sell	8-Feb	11	44.84	
Non-Voting Shares		Sell	8-Feb	700	44.90	-
Non-Voting Shares		Sell	8-Feb	8,100	44.78	R\$ 362,718.00 R\$
Non-Voting Shares		Sell	20-Feb	2,300	45.52	•
Non-Voting Shares		Sell	20-Feb	100	45.50	
Non-Voting Shares		Sell	20-Feb	800	45.51	36,408.00 R\$
Non-Voting Shares		Sell	8-Feb	3	45.14	
Non-Voting Shares		Sell	8-Feb	2,100	45.11	94,731.00 R\$
Non-Voting Shares		Sell	8-Feb	1,000	45.12	
Non-Voting Shares		Sell	8-Feb	400	45.13	•
Non-Voting Shares		Sell	8-Feb	200	45.10	
Non-Voting Shares		Sell	8-Feb	32	44.89	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares		Sell	8-Feb	3,100	44.90	

				0		R\$
Non-Voting Sh	nares	Sell	11-Feb	2	44.23	88.46 R\$
Non-Voting Sh	nares	Sell	11-Feb	1,300	44.26	57,538.00 R\$
Non-Voting Sh	nares	Sell	12-Feb	93	45.00	4,185.00
Non-Voting Sh	nares	Sell	12-Feb	5,900	45.02	R\$ 265,618.00
Non-Voting Sh	nares	Sell	8-Feb	5	44.16	R\$ 220.80
Non-Voting Sh	nares	Sell	8-Feb	3,700	44.16	R\$ 163,392.00
Non-Voting Sh	nares	Sell	11-Feb	28	44.23	R\$ 1,238.44
Non-Voting Sh	nares	Sell	11-Feb	13	44.22	R\$ 574.86
Non-Voting Sh	nares	Sell	11-Feb	1,500	44.25	R\$ 66,375.00
Non-Voting Sh	nares	Sell	14-Feb	92	43.96	R\$ 4,044.32
Non-Voting Sh	nares	Sell	14-Feb	3,600	44.02	R\$ 158,472.00
Non-Voting Sh	nares	Sell	14-Feb	1,000	44.00	R\$ 44,000.00
Non-Voting Sh	nares	Sell	14-Feb	1,300	44.01	R\$ 57,213.00
Non-Voting Sh	nares	Sell	8-Feb	20	44.97	R\$ 899.40
Non-Voting Sh	nares	Sell	8-Feb	20	44.12	R\$ 882.40
Non-Voting Sh	nares	Sell	8-Feb	12	44.88	R\$ 538.56
Non-Voting Sh	nares	Sell	8-Feb	7	44.85	R\$ 313.95
Non-Voting Sh	nares	Sell	8-Feb	100	44.96	R\$ 4,496.00
Non-Voting Sh	nares	Sell	8-Feb	100	45.02	R\$ 4,502.00
Non-Voting Sh	nares	Sell	8-Feb	100	44.13	R\$ 4,413.00
Non-Voting Sh	nares	Sell	8-Feb	200	44.88	R\$ 8,976.00
Non-Voting Sh	nares	Sell	8-Feb	100	44.83	R\$ 4,483.00
Non-Voting Sh	nares	Sell	8-Feb	200	44.79	R\$ 8,958.00
Non-Voting Sh	nares	Sell	8-Feb	200	45.06	R\$ 9,012.00
Non-Voting Sh Non-Voting Sh		Sell Sell	8-Feb 8-Feb	100 200	44.92	R\$ 4,492.00
-						

				R\$
			44.84	8,968.00 R\$
Sell	8-Feb	100	44.81	4,481.00
Sell	8-Feb	100	44.78	R\$ 4,478.00
Sell	8-Feb	100	44.51	R\$ 4,451.00
Sell	8-Feb	100	44.90	R\$ 4,490.00
Sell	8-Feb	100	44.35	R\$ 4,435.00
Sell	8-Feb	100	44.03	R\$ 4,403.00
Sell	8-Feb	100	44.86	R\$ 4,486.00
Sell	8-Feb	100	44.98	R\$ 4,498.00
Sell	8-Feb	100	44.02	R\$ 4,402.00
Sell	8-Feb	200	44.89	R\$ 8,978.00
Sell	8-Feb	100	44.97	R\$ 4,497.00
Sell	11-Feb	44	44.27	R\$ 1,947.88
Sell	11-Feb	20	44.35	R\$ 887.00
Sell	11-Feb	100	44.37	R\$ 4,437.00
Sell	11-Feb	600	44.35	R\$ 26,610.00
Sell	11-Feb	100	44.42	R\$ 4,442.00
Sell	11-Feb	100	44.28	R\$ 4,428.00
Sell	11-Feb	100	44.57	R\$ 4,457.00
Sell	11-Feb	36	44.53	R\$ 1,603.08
Sell	11-Feb	30	44.57	R\$ 1,337.10
Sell	11-Feb	18	44.54	R\$ 801.72
Sell	11-Feb	3,300	44.60	R\$ 147,180.00
Sell	11-Feb	700	44.55	R\$ 31,185.00
Sell Sell	11-Feb 8-Feb	1,800 46	44.56	R\$ 80,208.00
	Sell Sell Sell Sell Sell Sell Sell Sell	Sell 8-Feb Sell 11-Feb Sell 11-Feb	Sell 8-Feb 100 Sell 8-Feb 200 Sell 8-Feb 100 Sell 8-Feb 100 Sell 11-Feb 44 Sell 11-Feb 100 Sell 11-Feb 100 Sell 11-Feb 100 Sell 11-Feb 100 Sell 11-Feb 36 Sell 11-Feb 30 Sell 11-Feb 30 Sell 11-Feb 30 Sell 11-Feb 3,300 Sell 11-Feb 700 Sell 11-Feb 700 Sell 11-Feb 1,800	Sell 8-Feb 100 44.78 Sell 8-Feb 100 44.51 Sell 8-Feb 100 44.90 Sell 8-Feb 100 44.35 Sell 8-Feb 100 44.03 Sell 8-Feb 100 44.86 Sell 8-Feb 100 44.98 Sell 8-Feb 100 44.98 Sell 8-Feb 200 44.89 Sell 8-Feb 100 44.97 Sell 11-Feb 44 44.27 Sell 11-Feb 20 44.35 Sell 11-Feb 100 44.37 Sell 11-Feb 100 44.35 Sell 11-Feb 100 44.22 Sell 11-Feb 36 44.57 Sell 11-Feb 30 44.57 Sell 11-Feb 3,300 44.60 Sell 11-Feb 700 44.55 Sell 11-Feb 700 44.55 Sell

					R\$
				44.16	2,031.36 R\$
Non-Voting Shares	Sell	8-Feb	1,300	44.13	57,369.00 R\$
Non-Voting Shares	Sell	8-Feb	2,400	44.12	105,888.00
Non-Voting Shares	Sell	8-Feb	1	44.00	R\$ 44.00
Non-Voting Shares	Sell	8-Feb	56	43.97	R\$ 2,462.32
Non-Voting Shares	Sell	8-Feb	10	43.98	R\$ 439.80
Non-Voting Shares	Sell	8-Feb	3,700	44.00	R\$ 162,800.00
Non-Voting Shares	Sell	8-Feb	200	44.01	R\$ 8,802.00
Non-Voting Shares	Sell	11-Feb	49	44.62	R\$ 2,186.38
Non-Voting Shares	Sell	11-Feb	1	44.86	R\$ 44.86
Non-Voting Shares	Sell	11-Feb	1,600	44.59	R\$ 71,344.00
Non-Voting Shares	Sell	8-Feb	9	45.00	R\$ 405.00
Non-Voting Shares	Sell	8-Feb	700	45.03	R\$ 31,521.00
Non-Voting Shares	Sell	8-Feb	200	45.00	R\$ 9,000.00
Non-Voting Shares	Sell	8-Feb	1,700	45.01	R\$ 76,517.00
Non-Voting Shares	Sell	8-Feb	1,200	45.02	R\$ 54,024.00
Non-Voting Shares	Sell	11-Feb	84	44.08	R\$ 3,702.72
Non-Voting Shares	Sell	11-Feb	1,100	44.11	R\$ [°] 48,521.00
Non-Voting Shares	Sell	11-Feb	400	44.10	R\$ 17,640.00
Non-Voting Shares	Sell	11-Feb	18	44.64	R\$ 803.52
Non-Voting Shares	Sell	11-Feb	23	43.96	R\$ 1,011.08
·			800		R\$
Non-Voting Shares	Sell	11-Feb		44.01	35,208.00 R\$
Non-Voting Shares	Sell	11-Feb	900	44.65	40,185.00 R\$
Non-Voting Shares	Sell	11-Feb	200	43.96	8,792.00
Non-Voting Shares	Sell	8-Feb	4	44.11	R\$ 176.44
Non-Voting Shares	Sell	8-Feb	36		

					R\$
				44.06	1,586.16 R\$
Non-Voting Shares	Sell	8-Feb	2	44.08	88.16
Non-Voting Shares	Sell	8-Feb	3	44.10	R\$ 132.30
Non-Voting Shares	Sell	8-Feb	72	44.77	R\$ 3,223.44
Non-Voting Shares	Sell	8-Feb	15	44.78	R\$ 671.70
Non-Voting Shares	Sell	8-Feb	5	44.07	R\$ 220.35
Non-Voting Shares	Sell	8-Feb	1,900	44.81	R\$ 85,139.00
Non-Voting Shares	Sell	11-Feb	17	44.30	R\$ 753.10
Non-Voting Shares	Sell	11-Feb	10	44.34	R\$ 443.40
Non-Voting Shares	Sell	11-Feb	800	44.33	R\$ 35,464.00
Non-Voting Shares	Sell	11-Feb	45	44.58	R\$ 2,006.10
Non-Voting Shares	Sell	11-Feb	400	44.56	R\$ 17,824.00
Non-Voting Shares	Sell	20-Feb	60	45.33	R\$ 2,719.80
Non-Voting Shares	Sell	20-Feb	1,300	45.34	R\$ 58,942.00
Non-Voting Shares	Sell	20-Feb	100	45.35	R\$ 4,535.00
Non-Voting Shares	Sell	20-Feb	1,100	45.33	R\$ 49,863.00
Non-Voting Shares	Sell	11-Feb	50	44.01	R\$ 2,200.50
Non-Voting Shares	Sell	11-Feb	400	44.05	R\$ 17,620.00
Non-Voting Shares	Sell	8-Feb	31	44.95	R\$ 1,393.45
Non-Voting Shares	Sell	8-Feb	3,100	44.93	R\$ 139,283.00
Non-Voting Shares	Sell	15-Feb	2	45.90	R\$ 91.80
Non-Voting Shares	Sell	15-Feb	1,000	46.00	R\$ 46,000.00
Non-Voting Shares	Sell	15-Feb	300	46.01	R\$ 13,803.00
Non-Voting Shares	Sell	11-Feb	33	44.08	R\$ 1,454.64
Non-Voting Shares	Sell	11-Feb	2	44.10	R\$ 88.20
Non-Voting Shares	Sell	11-Feb	700		

					R\$
				44.10	30,870.00 R\$
Non-Voting Shares	Sell	14-Feb	5	44.10	220.50
Non-Voting Shares	Sell	14-Feb	45	44.13	R\$ 1,985.85
Non-Voting Shares	Sell	14-Feb	400	44.13	R\$ 17,652.00
Non-Voting Shares	Sell	8-Feb	40	44.78	R\$ 1,791.20
Non-Voting Shares	Sell	8-Feb	400	44.81	R\$ 17,924.00
Non-Voting Shares	Sell	13-Feb	13	44.75	R\$ 581.75
Non-Voting Shares	Sell	13-Feb	600	44.75	R\$ 26,850.00
Non-Voting Shares	Sell	11-Feb	40	44.40	R\$ 1,776.00
Non-Voting Shares	Sell	11-Feb	400	44.41	R\$ 17,764.00
Non-Voting Shares	Sell	11-Feb	1	44.24	R\$ 44.24
Non-Voting Shares	Sell	11-Feb	20	44.21	R\$ 884.20
Non-Voting Shares	Sell	11-Feb	600	44.26	R\$ 26,556.00
Non-Voting Shares	Sell	11-Feb	2,700	44.24	R\$ 119,448.00
Non-Voting Shares	Sell	8-Feb	11	44.82	R\$ 493.02
Non-Voting Shares	Sell	8-Feb	400	44.86	R\$ 17,944.00
Non-Voting Shares	Sell	12-Feb	3	45.18	R\$ 135.54
Non-Voting Shares	Sell	12-Feb	29	45.13	R\$ 1,308.77
Non-Voting Shares	Sell	8-Feb	53	45.16	R\$ 2,393.48
Non-Voting Shares	Sell	8-Feb	3,500	45.16	R\$ 158,060.00
Non-Voting Shares	Sell	15-Feb	36	45.80	R\$ 1,648.80
Non-Voting Shares	Sell	15-Feb	1,900	45.83	R\$ 87,077.00
Non-Voting Shares	Sell	15-Feb	1,300	45.85	R\$ 59,605.00
Non-Voting Shares	Sell	15-Feb	200	45.84	R\$ 9,168.00
Non-Voting Shares Non-Voting Shares	Sell Sell	12-Feb 12-Feb	30 400	45.45	R\$ 1,363.50

					R\$	
				45.39	18,156.00	
			2 000		R\$	
Non-Voting Shares	Sell	14-Feb	3,000	44.20	132,600.00	
			86		R\$	
Non-Voting Shares	Sell	8-Feb	00	44.97	3,867.42	
			1 000		R\$	
Non-Voting Shares	Sell	8-Feb	1,900	45.00	85,500.00	
			27		R\$	
Non-Voting Shares	Sell	11-Feb	21	44.33	1,196.91	
			800		R\$	
Non-Voting Shares	Sell	11-Feb	000	44.37	35,496.00	
			27		R\$	
Non-Voting Shares	Sell	11-Feb	21	44.11	1,190.97	
			400		R\$	
Non-Voting Shares	Sell	11-Feb	400	44.12	17,648.00	
			400		R\$	
Non-Voting Shares	Sell	11-Feb	1 00	44.13	17,652.00	
					R\$	
Non-Voting Shares	Total		94,836		4,238,313.84	
_	_	Balance				
Type of S	Securities/Derivatives		Quanti	•	% of participation	
					Same type of Total	
					Shares	
Common Shares				52,327 0.0015 0		
Nor	n-Voting Shares		1,6	77,471	0.0499 0.0249	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Brad	desco S.A.					
Group and Family	()Board of	() Board of E	xecutive	(X) Au	dit	() Technical and
Dependants	Directors	Office	rs	Commi	ttee	Advisory Agencies
		Openning E	Balance			
Туре	of Securities/De	erivatives		Quant	ity	% of participation
						Same type of Total
						Shares
	Common Share	es			2,794	0.0000 0.0000
	Non-Voting Sha	res		1	04,786	0.0031 0.0015
	_	Month Mov	ement			
Type of	Broker	Operation	Day	Quantity	Price	Value in R\$
Securities/Derivatives		•	-	_		
Non-Voting Shares	Bradesco S.A.	Sell	12-Feb	400	44.95	R\$ 17,980.00
Non-Voting Shares	C.T.V.M.	Total		400		R\$ 17,980.00
•		Closing Ba	alance			
Туре	of Securities/De	rivatives		Quant	ity	% of participation
-					-	Same type of Total
						Shares
	Common Share	es			2,794	0.0000 0.0000
	Non-Voting Sha	res		1	04,386	0.0031 0.0015
	Tion voting ona	103		'	0-7,000	0.0001 0.0013

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A. Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory Aç	
	Openning E	Balance			
Type of Securities/D)erivatives		Quantity	% of partici	pation
				Same type	Total
				of Shares	
Common Sha	ares		0	0.0000	0.0000
Non-Voting Sh	nares		0	0.0000	0.0000
	Closing Ba	alance			
Type of Securities/D	Derivatives •		Quantity	% of partici	pation
				Same type	Total
				of Shares	
Common Sha	ares		0	0.0000	0.0000
Non-Voting Sh	ares		0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO

BRADESCO CPF/CNPJ:

Name: S.A. 60.746.948/0001-12

Qualification: Treasury

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 5,535,803 0.1647 0.0823

Non-Voting Shares 20,741,320 0.6173 0.3086

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

 Common Shares
 5,535,803
 0.1647
 0.0823

 Non-Voting Shares
 20,741,320
 0.6173
 0.3086

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

TIBRE

HOLDING CPF/CNPJ:

Name: LTDA. 07.838.582/0001-29

Qualification: Controlled

Quantity	% of participation	
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
Quantity	% of participati	on
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
	0 0 Quantity 0	Same type of Shares 0 0.0000 0 0.0000 Quantity % of participati Same type of Shares 0 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MANACÁS

HOLDINGS CPF/CNPJ:

Name: LTDA. 07.444.731/0001-75

Qualification: Controlled

Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participat	ion	
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CELTA CPF/CNPJ:

Name: HOLDING S.A. 07.394.072/0001-00

Qualification: Controlled

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

EMBAUBA CPF/CNPJ:

Name: HOLDINGS S.A. 07.436.414/0001-07

Qualification: Controlled

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESPLAN

PARTICIPAÇÕES CPF/CNPJ:

Name: LTDA. 61.782.769/0001-01

Qualification: Controlled

Quantity	ty % of participation		
9	Same type of	Total	
	Shares		
0	0.0000	0.0000	
0	0.0000	0.0000	
Quantity	% of participat	tion	
5	Same type of	Total	
	Shares		
0	0.0000	0.0000	
0	0.0000	0.0000	
	0 0 Quantity 0	0 0.0000 0 0.0000 Quantity % of participate Same type of Shares 0 0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO BRADESCO

FINANCIAMENTOS CPF/CNPJ:

Name: S.A. 07.207.996/0001-50

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

> Same type of Total

> > Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

BANCO

BRADESCO CARTÕES S.A. CPF/CNPJ: 59.438.325/0001-01

0.0000 0.0000

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity	tity % of participation		
	;	Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participat	tion	
	;	Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	

0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO CPF/CNPJ:
Name: CBSS S.A. 27.098.060/0001-45

Qualification: Related Company

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity % of participation		on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	on
		Same type of	Total
		Shares	

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANKPAR

CONSULTORIA E CPF/CNPJ: SERVIÇOS LTDA. 67.529.289/0001-01

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Closing Balance Type of Securities/Derivatives

Quantity % of participation Total

Same type of

Shares

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

IMAGRA

IMOBILIÁRIA E CPF/CNPJ:
Name: AGRÍCOLA LTDA. 42.362.939/0001-46

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BPAR

CORRETAGEM DE CPF/CNPJ:
Name: SEGUROS LTDA. 43.133.503/0001-48

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Total Same type of **Shares** Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANKPAR CPF/CNPJ:
Name: BRASIL LTDA. 34.046.581/0001-14

Qualification: Controlled

Openning Balance

Opening Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participati	on	
		Same type of	Total	
		Shares		

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

TEMPO

SERVIÇOS LTDA. CPF/CNPJ: 58.503.129/0001-00

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity

% of participation

Same type of

Total

Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

PTS VIAGENS E CPF/CNPJ:
Name: TURISMO LTDA. 00.580.230/0001-77

Qualification: Controlled

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

M4 PRODUTOS E CPF/CNPJ:
Name: SERVIÇOS S.A. 09.614.276/0001-34

Qualification: Related Company

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MULTIDISPLAY COM

E SERVIÇOS CPF/CNPJ:

Name: TECNOLOGICOS S.A. 04.193.879/0001-96

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

PAGGO SOLUÇÕES

E MEIOS DE CPF/CNPJ: PAGAMENTO S.A. 09.311.289/0001-34

Qualification: Related Company

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 0 0.0000 0.0000

Closing Balance

Non-Voting Shares

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0.0000 0.0000 0 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRASPAG

-TECNOLOGIA EM CPF/CNPJ:

Quantity % of participation

Name: PAGAMENTO LTDA. 07.355.049/0001-06

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
	Same type of	Total	
	Shares		
Common Shares	0 0.000	0.0000	
Non-Voting Shares	0 0.000	0.0000	

Closing Balance

Type of Securities/Derivatives

Same type of Total
Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CIELO INC. CPF/CNPJ:
Name: (USA) 00.000.000/0000-00

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation Total Same type of **Shares Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MERCHANT CPF/CNPJ:
Name: E-SOLUTIONS 00.000.000/0000-00

Qualification: Related Company

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity	Quantity % of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
		Shares	

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CATENO GESTÃO DE

CONTAS DE CPF/CNPJ: PAGAMENTO S.A. 20.247.380/0001-70

Qualification: Related Company

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ALIANÇA

PAGAMENTOS E

PARTICIPAÇÕES CPF/CNPJ: LTDA. 20.300.867/0001-70

Qualification: Related Company

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

BRADESCO -

AGÊNCIA NEW CPF/CNPJ:

0

Name: YORK 00.000.000/0000-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO -

AGÊNCIA GRAND CPF/CNPJ:

Name: CAYMAN 00.000.000/0000-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

BANCO

BRADESCO CPF/CNPJ:

0

0.0000 0.0000

Name: ARGENTINA S.A. 00.000.000/0000-00

Qualification: Controlled

Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	tion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ÁGORA CORRETORA

DE TÍTULOS E

VALORES CPF/CNPJ:

Name: MOBILIÁRIOS S.A. 74.014.747/0001-35

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

ÁGORA

LTDA.

EDUCACIONAL

CPF/CNPJ: 09.544.124/0001-02

0.0000 0.0000

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
•	,	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
	;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CIA.

SECURITIZADORA DE

CRÉDITO CPF/CNPJ:

Name: FINANCIAMENTO RUBI 01.222.069/0001-22

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
	Same type of Total		
	Shares		
Common Shares	0 0.0000 0.0000		
Non-Voting Shares	0.0000 0.0000		
Closing Balance			
Type of Securities/Derivatives	Quantity % of participation		
	Same type of Total		
	Shares		

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ALPHA SERVIÇOS DE

REDE DE AUTO CPF/CNPJ:

Name: ATENDIMENTO S.A. 09.092.759/0001-16

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

COLUMBUS CPF/CNPJ:

Name: HOLDINGS S.A. 09.092.789/0001-22

Qualification: Related Company

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MIRAMAR CPF/CNPJ:

Name: HOLDINGS S.A. 09.060.272/0001-51

Qualification: Controlled

Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO S.A. CORRETORA DE

TÍTULOS E VALORES CPF/CNPJ:

Name: MOBILIÁRIOS 61.855.045/0001-32

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

NOVA MARÍLIA

ADMINISTRAÇÃO DE

BENS MÓVEIS E CPF/CNPJ:

IMÓVEIS LTDA. 02.335.940/0001-67

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

NOVA PAIOL

PARTICIPAÇÕES CPF/CNPJ:

Name: S.A. 04.278.130/0001-41

Qualification: Controlled

Type of Securities/Derivatives	Quantity % of participation		
	- ;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CIELO CPF/CNPJ:

Name: S.A. 01.027.058/0001-91

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives
Quantity % of participation
Same type of Shares Total
Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000

Non-Voting Shares

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Shares Total Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CPM

LIMITED

HOLDINGS

CPF/CNPJ:

00.000.000/0000-00

Name:

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SERVINET SERVIÇOS

Name: LTDA. CPF/CNPJ:01.416.845/0001-25

Qualification: Related Company

Openning Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
	(Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CIA. BRASILEIRAS DE

SOLUÇÕES E

Name: SERVIÇOS - ALELO CPF/CNPJ:04.740.876/0001-25

Qualification: Related Company

Quantity 9	% of participation
Sa	me type of Total
	Shares
0	0.0000 0.0000
0	0.0000 0.0000
Quantity 9	% of participation
Sa	me type of Total
	Shares
0	0.0000 0.0000
0	0.0000 0.0000
	Sa 0 0 Quantity Sa 0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADPORT - SGPS

SOCIEDADE CPF/CNPJ:

Name: UNIPESSOAL, LDA 00.000.000/0000-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000

Closing Balance
Type of Securities/Derivatives

Quantity % of participation Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

AQUARIUS

PARTICIPAÇÕES CPF/CNPJ:

0

Name: S.A. 19.581.571/0001-95

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		ion
	;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
	;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

FIDELITY

PROCESSADORA

Name: S.A. CPF/CNPJ:04.792.521/0001-80

Qualification: Related Company

Quantity	% of participat	ion
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
Quantity	% of participat	ion
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
	0 0 Quantity 0	Same type of Shares 0 0.0000 0 0.0000 Quantity % of participat Same type of Shares 0 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

FIDELITY SERVIÇOS

E CONTACT CPF/CNPJ:

Name: CENTER S.A. 23.532.312/0001-41

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

COMPANHIA BRASILEIRA DE

GESTÃO DE CPF/CNPJ:

Name: SERVIÇOS 08.627.229/0001-62

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

GUILHER COM, IMP, EXP

E DISTR DE

MEDICAMENTOS E CPF/CNPJ:

Name: TECPARA SAÚDE LTDA. 14.531.460/0001-50

Qualification:Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

JAPIRA

HOLDINGS CPF/CNPJ:

Name: S.A. 08.503.701/0001-55

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares**

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CREDIARE S.A.

CRÉDITO,

FINANCIAMENTO E CPF/CNPJ:

Name: INVESTIMENTO 05.676.026/0001-78

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SETTLE

CONSULTORIA,

ASSESSORIA E CPF/CNPJ: SISTEMAS LTDA. 62.575.378/0001-70

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

UNIÃO

PARTICIPAÇÕES

Name: LTDA. CPF/CNPJ:05.892.410/0001-08

Qualification: Controlled

Type of Securities/Derivatives	Quantity	y % of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

AQUARIUS

HOLDINGS LTDA.

CPF/CNPJ: 04.866.440/0001-87

Qualification: Controlled

Name:

Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	
Closing Balance				
Type of Securities/Derivatives	Quantity	% of participation		
		Same type of	Total	
		Shares		
Common Shares	0	0.0000	0.0000	
Non-Voting Shares	0	0.0000	0.0000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

LYON

LTDA.

HOLDINGS

CPF/CNPJ: 07.131.859/0001-89

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity
% of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BVP PROMOTORA CPF/CNPJ:
Name: DE VENDAS LTDA. 07.131.760/0001-87

Qualification: Controlled

Opening Balance			
Type of Securities/Derivatives	Quantity	entity % of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	uantity % of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MOVERA SERVIÇOS E

PROMOÇÃO DO

EMPREENDEDORISMO CPF/CNPJ:

Name: LTDA. 13.183.808/0001-01

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Qualification: Related Company

KARTRA

PARTICIPAÇÕES

0

CPF/CNPJ: 13.638.719/0001-02

0.0000 0.0000

Name: LTDA.

Non-Voting Shares

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives % of participation Quantity Same type of Total **Shares** Common Shares 0.0000 0.0000 0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

LIVELO CPF/CNPJ: Name: S.A. 12.888.241/0001-06

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type of Shares

Total

Common Shares

0
0.0000

Non-Voting Shares

0
0.0000
0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Shares Total Common Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

STELO CPF/CNPJ: Name: S.A. 14.625.224/0001-01

Qualification: Related Company

Openning Balance

Type of Securities/Derivatives

Quantity

Same type of Shares

Total

Common Shares

0
0.0000

Non-Voting Shares

0
0.0000

0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

 Common Shares
 Same type of Shares
 Total

 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

AICARE

HOLDINGS LTDA. CPF/CNPJ: 09.235.141/0001-68

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000
 0.0000

 Non-Voting Shares
 0
 0.0000
 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCARD ELO

PARTICIPAÇÕES CPF/CNPJ:

Name: S.A. 09.226.818/0001-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ELO

SERVIÇOS CPF/CNPJ:

Name: S.A. 09.227.084/0001-75

Qualification: Related Company

- p			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ELO HOLDING CPF/CNPJ:

Name: FINANCEIRA S.A. 09.235.082/0001-28

Qualification: Related Company

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SCOPUS

INDUSTRIAL CPF/CNPJ:

Name: S.A. 09.227.001/0001-48

Qualification: Controlled

Type of Securities/Derivatives	Quantity	% of participation	
	•	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ELO

PARTICIPAÇÕESCPF/CNPJ:

Name: S.A. 09.227.099/0001-33

Qualification: Related Company

Type of Securities/Derivatives	Quantity	% of participation	
•	-	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

QUIXABA

EMPREENDIMENTOS

E PARTICIPAÇÕES CPF/CNPJ:

Name: LTDA. 09.470.650/0001-75

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO

BRADESCO CPF/CNPJ:

Name: EUROPA S.A. 00.000.000/0000-00

Qualification: Controlled

Quantity % of participation		
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
Quantity	% of participat	ion
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
	0 0 Quantity 0	Same type of Shares 0 0.0000 0 0.0000 Quantity % of participat Same type of Shares 0 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CIDADE CAPITAL

MARKETS CPF/CNPJ: LIMITED 00.000.000/0000-00

Qualification: Controlled

Name:

Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	tion
	;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO LEASING

S.A. ARRENDAMENTO CPF/CNPJ: MERCANTIL 47.509.120/0001-82

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

BRADESCO NORTH

AMERICA CPF/CNPJ:

0

0.0000 0.0000

Name: LLC-DELAWARE-USA 00.000.000/0000-00

Qualification: Controlled

o pointing Datation		
Type of Securities/Derivatives	Quantity %	of participation
	San	ne type of Total
	5	Shares
Common Shares	0	0.0000 0.0000
Non-Voting Shares	0	0.0000 0.0000
Closing Balance		
Type of Securities/Derivatives	Quantity %	of participation
	San	ne type of Total
	5	Shares
Common Shares	0	0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRASÍLIA CAYMAN

INVESTMENTS II CPF/CNPJ:
Name: LIMITED 00.000.000/0000-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRASÍLIA CAYMAN

INVESTMENTS III CPF/CNPJ: LIMITED 00.000.000/0000-00

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

GANANT

CORRETORA DE CPF/CNPJ:
Name: SEGUROS LTDA. 02.447.678/0001-42

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO

SECURITIES UK CPF/CNPJ:

LIMITED 00.000.000/0000-00

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives % of participation Quantity Same type of Total Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

PREVSAÚDE COMERCIAL DE PRODUTOS E DE

BENEFÍCIOS DE CPF/CNPJ: FARMÁCIA LTDA. 01.633.914/0001-52

Qualification: Related Company

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Common Shares

Non-Voting Shares

Company: Banco Bradesco S.A.

BRADESCO

ADMINISTRADORA

DE CONSÓRCIOS CPF/CNPJ: LTDA. 52.568.821/0001-22

0

0

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
	S	ame type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participa	ation
	S	ame type of	Total
		Shares	

 $\begin{array}{cccc} 0.0000 & 0.0000 \\ 0.0000 & 0.0000 \end{array}$

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BCN CONSULTORIA, ADMINISTRAÇÃO DE

BENS, SERVIÇOS E CPF/CNPJ: PUBLICIDADE LTDA. 52.842.408/0001-04

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO

SECURITIES HONG CPF/CNPJ:

Name: KONG LTDA. 00.000.000/0000-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRAM BRADESCO

ASSET

MANAGEMENT S.A. CPF/CNPJ: D.T.V.M. 62.375.134/0001-44

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares
Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO

SECURITIES, CPF/CNPJ:

Name: INC. 00.000.000/0000-00

Qualification: Controlled

Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

BF PROMOTORA

DE VENDAS CPF/CNPJ: LTDA. 02.038.394/0001-00

0

Qualification: Controlled

Name:

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participat	tion
	S	ame type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	tion
	S	ame type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BAÍRA

HOLDING CPF/CNPJ:

Name: LTDA. 10.429.085/0001-81

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares**

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

LECCE

HOLDINGS CPF/CNPJ:

Name: S.A. 14.370.283/0001-78

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares**

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

BANCO

BRADESCO BERJ S.A. CPF/CNPJ: 33.147.315/0001-15

0.0000 0.0000

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SCOPUS

SOLUÇÕES EM CPF/CNPJ:

Name: TI S.A. 14.380.750/0001-40

Qualification: Controlled

Type of Securities/Derivatives	Quantity % of participation		
	;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
	;	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

TREVIGLIO

HOLDINGS

LTDA.

CPF/CNPJ: 14.494.019/0001-46

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANEB

CORRETORA DE CPF/CNPJ:
Name: SEGUROS S.A. 14.560.304/0001-18

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

VIAREGGIO

HOLDINGS CPF/CNPJ:

Name: LTDA. 14.333.605/0001-09

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total

Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO

BRADESCARD

S.A. 04.184.779/0001-01

CPF/CNPJ:

Qualification: Controlled

Name:

Type of Securities/Derivatives	Quantity	% of participati	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

IBI CORRETORA

DE SEGUROS CPF/CNPJ: LTDA. 56.348.618/0001-00

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 0 0.0000 0.0000 Non-Voting Shares **Closing Balance** Type of Securities/Derivatives % of participation Quantity Same type of Total **Shares**

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MPO

PROCESSADORA DE

PAGAMENTOS CPF/CNPJ: MÓVEIS S.A. 14.882.376/0001-81

Qualification: Related Company

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

IBI PROMOTORA

DE VENDAS CPF/CNPJ:

0

Name: LTDA. 74.481.201/0001-94

Qualification: Related Company

Openning Balance
Type of Securities/Derivatives

Type of Securities/Derivatives	Quantity % of participation		
		Same type of	Total
	Shares		
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	
	5	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCARD MÉXICO,

SOCIEDAD DE

RESPONSABILIDAD CPF/CNPJ:

LIMITADA 00.000.000/0000-00

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ΙT

PARTNERS CPF/CNPJ:

Name: LTD. 00.000.000/0000-00

Qualification: Controlled

Quantity	% of participation	
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
Quantity	% of participation	
	Same type of	Total
	Shares	
0	0.0000	0.0000
0	0.0000	0.0000
	0 0 Quantity 0	Same type of Shares 0 0.0000 0 0.0000 Quantity % of participation Same type of Shares 0 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SHOPFÁCIL SOLUÇÕES EM

COMÉRCIO CPF/CNPJ:

Name: ELETRÔNICO S.A. 14.370.342/0001-08

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SEREL

PARTICIPAÇÕES CPF/CNPJ:

Name: EM IMÓVEIS S.A. 72.712.201/0001-22

Qualification: Controlled

Opening balance			
Type of Securities/Derivatives	Quantity % of participation		tion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	tity % of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO

ALVORADA

CPF/CNPJ:

Name: S.A.

33.870.163/0001-84

Qualification: Controlled

Type of Securities/Derivatives	Quantity	% of participation	
•	•	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ALVORADA CIA.

SECURITIZADORA DE

CRÉDITOS CPF/CNPJ:

Name: FINANCEIROS 03.572.412/0001-94

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Common Shares

Non-Voting Shares

Company: Banco Bradesco S.A.

ANDORRA CPF/CNPJ:
Name: HOLDINGS S.A. 08.503.501/0001-00

Qualification: Controlled

Openning Balance

oponing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	

0

0.0000 0.0000

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MARSELHA

HOLDINGS CPF/CNPJ:

Name: LTDA. 08.427.540/0001-68

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

TAPAJÓS

HOLDINGS LTDA. CPF/CNPJ: 08.427.617/0001-08

0.0000 0.0000

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares Common Shares** 0.0000 0.0000 0

0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

AMAPARI CPF/CNPJ:
Name: HOLDINGS S.A. 15.012.678/0001-61

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

ARANAU CPF/CNPJ:
Name: HOLDINGS S.A. 15.011.846/0001-02

Qualification: Controlled

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BARINAS CPF/CNPJ:
Name: HOLDINGS S.A. 15.011.336/0001-27

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CARSON

HOLDINGS LTDA. CPF/CNPJ: 15.011.719/0001-03

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ELVAS

HOLDINGS CPF/CNPJ:

Name: LTDA. 15.012.087/0001-94

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity
% of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MALIBU

HOLDINGS CPF/CNPJ: LTDA. 15.011.796/0001-55

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

TANDIL

HOLDINGS LTDA. 1:

CPF/CNPJ: 15.010.931/0001-48

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

VARESE

HOLDINGS CPF/CNPJ:

LTDA. 15.121.454/0001-98

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives	Quantity	y % of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

TAIBA

CPF/CNPJ:

HOLDINGS Name: LTDA. 15.012.611/0001-27

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares Common Shares 0 0.0000 0.0000 0 0.0000 0.0000 Non-Voting Shares **Closing Balance**

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

ALVORADA

SERVIÇOS E CPF/CNPJ:

0

Name: NEGÓCIOS LTDA. 50.991.421/0001-08

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares Common Shares** 0 0.0000 0.0000

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ALVORADA

ADMINISTRADORA CPF/CNPJ:

Name: DE CARTÕES LTDA. 01.382.421/0001-97

Qualification: Controlled / Related Company

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEC DISTRIBUIDORA

DE TÍTULOS E

VALORES CPF/CNPJ:

Name: MOBILIÁRIOS LTDA. 07.299.480/0001-82

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

RFS HUMAN MANAGEMENT, SOCIEDAD DE

RESPONSABILIDAD CPF/CNPJ: LIMITADA 00.000.000/0000-00

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ODONTO SYSTEM

PLANOS

ODONTOLÓGICOS CPF/CNPJ: LTDA. 23.595.762/0001-83

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO LOSANGO

S.A. - BANCO CPF/CNPJ:
Name: MÚLTIPLO 33.254.319/0001-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

SCOPUS

DESENVOLVIMENTO CPF/CNPJ:

Name: DE SISTEMAS LTDA. 06.071.753/0001-74

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
	Sa	ame type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participa	ition
	Sa	ame type of	Total
		Shares	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BANCO

BRADESCO BBI CPF/CNPJ:

Name: S.A. 06.271.464/0001-19

Qualification: Controlled

Openning Balance

- p			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	10,519	0.0003	0.0001
Non-Voting Shares	10,094	0.0003	0.0001
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	10,519	0.0003	0.0001
Non-Voting Shares	10,094	0.0003	0.0001

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEM DISTRIBUIDORA

DE TÍTULOS E

VALORES CPF/CNPJ:

Name: MOBILIÁRIOS LTDA. 00.066.670/0001-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

2B CAPITAL CPF/CNPJ: Name: S.A. 07.063.675/0001-29

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total Shares **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Quantity Type of Securities/Derivatives % of participation Same type of Total Shares **Common Shares** 0.0000 0.0000 0

0

0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

2B CAPITAL CPF/CNPJ:

Name: LUXEMBOURG 00.000.000/0000-00

Qualification: Controlled

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participati	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

KIRTON BANK S.A.

- BANCO CPF/CNPJ:

Name: MÚLTIPLO 01.701.201/0001-89

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

KIRTON CORRETORA

DE TITULOS E

VALORES CPF/CNPJ:

MOBILIÁRIOS S.A. 58.229.246/0001-10

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

KIRTON GESTÃO

DE RECURSOS CPF/CNPJ:

Name: LTDA. 06.071.726/0001-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CREDIVAL -

PARTICIPAÇÕES,

ADMINISTRAÇÃO E CPF/CNPJ:

Name: ASSESSORIA LTDA. 45.003.746/0001-97

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Common Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

MODULO

ASSESSORIA EM

SEGUROS LTDA. - CPF/CNPJ:

Name: ME 53.409.496/0001-18

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

IPE HOLDING CPF/CNPJ:

Name: LTDA. 07.813.336/0001-12

Qualification: Controlled

Openning Balance

Opening Balar	100		
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Baland	ce		
Type of Securities/Derivatives	Quantity	% of participation	on
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

CLIDEC

PARTICIPAÇÕES CPF/CNPJ:

Name: S.A. 16.577.641/0001-43

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
	-	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

EVEREST

EMPREENDIMENTOS

E PARTICIPAÇÕES CPF/CNPJ:

Name: LTDA 07.832.133/0001-73

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of partici	pation
	Same type of	Total
	Shares	
Common Shares	0 0.000	0.0000
Non-Voting Shares	0 0.000	0.0000
Closing Balance		
Type of Securities/Derivatives	Quantity % of partici	pation
	Same type of	Total
	Shares	
0	0 000	

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

RENO

EMPREENDIMENTOS

E PARTICIPAÇÕES CPF/CNPJ:

Name: LTDA. 07.838.636/0001-56

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000
Closing Balance

Type of Securities/Derivatives
Quantity % of participation

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

EMPREENDIMENTOS

IMOBILIÁRIOS R20 CPF/CNPJ:

Name: LTDA. 07.838.653/0001-93

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares

0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares 0 0.0000 0.0000

Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

DANÚBIO

EMPREENDIMENTOS

E PARTICIPAÇÕES CPF/CNPJ:

Name: LTDA. 07.832.015/0001-65

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO SEGPREV

INVESTIMENTOS CPF/CNPJ: LTDA. 07.394.162/0001-09

Qualification: Controlled

Name:

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** Type of Securities/Derivatives Quantity % of participation Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP

EMPREENDIMENTOS

IMOBILIÁRIOS R6 CPF/CNPJ:

Name: LTDA. 07.394.192/0001-07

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation

Same type of Total

Shares

 Common Shares
 0
 0.0000 0.0000

 Non-Voting Shares
 0
 0.0000 0.0000

Closing Balance

Type of Securities/Derivatives Quantity % of participation

Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADSEG

PARTICIPAÇÕES

CPF/CNPJ:

Name: S.A. 02.863.655/0001-19

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity	Quantity % of participation	
•	_	Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participat	ion
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Non-Voting Shares

Company: Banco Bradesco S.A.

NOVAMED

GESTÃO DE CLINICAS

CPF/CNPJ: 22.485.085/0001-88

0.0000 0.0000

Name: Qualification: Controlled

Openning Balance

Type of Securities/Derivatives	Quantity % of participation		
•		Same type of	Total
	Shares		
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000

0

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO AUTO-RE

COMPANHIA DE CPF/CNPJ:

Name: SEGUROS 92.682.038/0001-00

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives

Quantity % of participation
Same type of Total
Shares

Common Shares
0 0.0000 0.0000
Non-Voting Shares
0 0.0000 0.0000

Closing Balance
Type of Securities/Derivatives Qual

Quantity % of participation
Same type of Total

Shares

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BRADESCO CPF/CNPJ: Name: SEGUROS S.A. 33.055.146/0001-93

Qualification: Controlled

Openning Balance

Opening Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
Closing Balance			
Type of Securities/Derivatives	Quantity	% of participation	
		Same type of	Total
		Shares	
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2019 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ATLÂNTICA

COMPANHIA DE CPF/CNPJ:

Name: **SEGUROS** 33.151.291/0001-78

Qualification: Controlled

Openning Balance

Type of Securities/Derivatives Quantity % of participation Same type of Total **Shares** Common Shares 0 0.0000 0.0000 0 0.0000 0.0000 Non-Voting Shares **Closing Balance** Type of Securities/Derivatives % of participation Quantity

Same type of Total

Shares

Common Shares 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000